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Office is the place, where :
(A) Clerical works are done
(B) Ethical works are done
(C) Social works are done
(D) All of the above

Modern concept of office is defined as a unit,

where :

(A) Planning and execution is management
(B) Keep records of the office

(C) Information management is done
(D) All of the above

Office is the hub of the institution :

(A) Administration

(B) Planning

(C) Control

(D) All of the above

Primary work of an office is to :

(A) Preparation use and keeping records

(B) Communication and administration of

records
(C) Both (A)and (B)
(D) None of the above

The word manage comes from __ word

manege.
(A) Latin

(B) French
(C) Greek

(D) None of the above
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Office management is defined as an
organization meant ____ for achieving.

(A) Objective

(B) Use of resources

(C) Create a suitable environment

(D) None of the above

The main functions of Office management are :
(A) Planning and execution

(B) Organising and control

(C) Staffing and directing

(D) All of the above

Concept of Scientific Office Management is
givenby :

(A) A.H. Maslow

(B) F.W. Taylor

(C) H. Fayol

(D) McClelland

The essential qualification of a Office Manager
is:

(A) Knowledge

B) Skill

D) All of the above

(B)

(C) Abilities
(D)

For organizing the first step is to :
(A) Division and grouping work
(B) Direction

(C) Centralization and decentralization

(D) Span of control

(4)
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Authority provide power to :

(A) Make decision

(B) Give direction

(C) Both (A) and (B)

(D) None of the above

Office layout means :

(A) Floor management for personnels
(B) Floor management for equipment
(C) Floor management for furniture
(D) All of the above

Public utilities which must present near Office
are:

(A) Water, Parking

(B) Hotel and Cafeteria

(C) Both (A)and (B)
(D)

D) None of the Above

The first principles of office layout :

(A) Utilization of floor area

(B) Separate place for department

(C) Safety and security

(D) Space for equipment and furniture
Private or cabinet office means :

(A) Officer's house

(B) Officer's choosen place for personal use

(C) Separate place in office

(D) Office of the private organisation

(5)
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The suitable temperature of the office should
be :

(A) 15-20°C

(B) 20-25°C

(C) 30-40°C

(D) 40-42°C

Duplication of the letter is done by :
(A) Carbon copies

(B) Stencil

(C) Photocopiers

(D) All of the above

What is office forms ?

(A) It contains records

(B) It contains information
(C) It contains directions
(D) All of the above
GCPSis:

(A) Pad for writing company
(B) A machine

(C) A communication mode
(D) None of the above

MICR No. of the cheque’s of bank contains how

many numbers ?

(D) None of the above

(6)
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All the information regarding a business firm is

know as :

(A) Vouchers

(B) Account statement

(C) Records

(D) Letters

A firm record is compilation of :

(A) Correspondence letters

(B) Related with accounts

(C) Related with employee

(D) All of the above

Aims of record keeping is to :

(A) Know the state of business

(B) For making decision

(C) Statutory procedure

(D) All of the above

The advantage of filing is to :

(A) For searching concern paper

(B) For safety of papers

(C) Increase the efficiency of operation
(D) All of the above

Files in a business firm is of following types :
(A) Alphabetically and numerically

(B) Alpha numerical

(C) Geographically and chronologically

(D) All of the above

(7)
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Subject wise filing means :
(A) Appointment

(B) Advertisement

(C) Sale

(D) All of the above

Indexing means :

(A) Inform about something
(B) Indicate about something
(C) Inform to search something
(D) All of the above

Card Index is discovered by :
(A) A.B. Jene Rosier

(B) Francis Becquerel

(C) TA. Edison

(D) S.T. Fayol

Office system means :

(A) System to perform work for achieving

objectives
(B) Standard operating system

(C) A work that is performed when, how and

what particular sequence
(D) All of the above
For making office system itis necessary to follow
this principle :
(A) Delegation of authority
(B) Centralization and decentralization
(C) Accountability and responsibility
(D) All of the above

(8)
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A may be defined as a series of steps in

the performance of work.
(A) Routine

(B) Planning

(C) Objective

(D) Budget

A is a planned sequence of activities in a

position.

(A) Planning

(B) Procedure

(C) System

(D) None of the above

Which one is a type of flow chart ?
(A) Office layout

(B) Process flow

(C) Management type flow

(D) All of the above

The book which contains policies, laws, work

system, work methods is called :

(A) Office manual

(B) Office ordinance

(C) Office constitution

(D) All of the above

The objective of Work Simplification is :
(A) Reduce cost

(B) Quality improvement

(C) Uniform work flow

(D) All of the above

(9)
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Work Simplification is organized by :
(A) Management consultant

(B) Employee groups

(C) Quality circle group

(D) All of the above

Work measurement is done by :

(A) Amount of work completed

(B) Amount of money spend

(C) Amount of time spend

(D) All of the above

“MBO” helps in :

(A) Motivation

(B) Concentration

(C) Consultation and cooperation with seniors
(D) All of the above

Machines used in office helps in :

(A) Saving labor

(B) Saving labor and time

(C) Saving labor, time and easy control
(D) None of the above

Ergonomics is the study of :

(A) Employee behaviour

(B) Trade union

(C) Employee and physical environment

(D) None of the above
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Paper shredder machine is used :

(A) To save confidential facts of office
(B) To save dirt

(C) To recycle paper

(D) All of the above

The name of First Digital Computer was :

(A) Mark one

(B) IBM

(C) Apolo

(D) SUN

Mainframe computers have :
(A) Fast processing speed

(B) More storage

(C) Large memory

(D) All of the above

Fortran is a ___ of the computer.
(A) Processor

(B) Language

(C) Type of computer

(D) All of the above

CPU in computer have :

(A) Control unit

(B) Control unit and arithmetic unit
(C) CU all and storage unit

(D) None of the above
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In Computers all the software are of :
(A) Application software

(B) System software

(C) Both (A) and (B)

(D) None of the above

A Officer gives order to secretary in same way a

computer operator given order to :
(A) Operating system

(B) In operating language

(C) Operating control

(D) Operating processor

In Office files are kept in Almirah in same way

file are kept ___ of computer :
(A) InCPU

(B) In Folder

(C) Both (A) and (B)

(D) None of the above
E-commerce helps in :

(A) In exchange

(B) In digital transportation

(C) In electronic transmission
(D) All of the above

“E-Commerce" gives which advantage in

business :

(A) Economic use

(B) Carry interaction with others
(C) Reduction in intermediation
(D)

D) All of the above
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Which one product can’t be sold through

E-Commerce easily ?

(A) Vegetables and fruits

(B) Jewellary

(C) Both (A) and (B)

(D) None of the above

Very soon metro railway in Kanpur will issue :
(A) Credit Card

(B) Debit Card

(C) Smart Card

(D) All of the above

Which one is @ model of business ?

(A) B2B

(B) B2C

(C) C2B

(D) All of the above

Which one is not function of management ?
(A) Planning and Direction

(B) Controlling

(C) Organising and Staffing

(D) All of the above

Who said that "authority is power of making

decision which give direction to other" ?
(A) Herbert Simon

(B) Harold Koontz

(C) A. Maslow

(D) F.W. Taylor
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Which one is considered as source of authority ?
(A) Organisation structure

(B) Legitimate right

(C) Expertise power

(D) All of the above

What is the key function of Office ?
(A) Production and marketing

(B) Management of records

(C) Staffing and directing

(D) None of the above

Which one is commercial papers ?
(A) Circulars and form letters

(B) Business reply cards

(C) General letters to shareholders
(D) All of the above

Circular letter’s are :

(A) Which is send to many persons
(B) Which show reasons for sale
(C) Which show commercial form
(D) None of the above

A system is defined as set of element arranged

in an orderly manner to accomplish :
(A) Objective

(B) Budget

(C) Target

(D) All of the above
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61. “Information Manual” inform :
(A) How information flow
(B) To whom to report for input and output
(C) How information would be processed
(D) All of the above
62. An Office require information for :
(A) Sale
(B) Resources
(C) Consumers

(D) Decision making

63. Information system operated by computer  63.

requires :
(A) Hardware and software
(B) Data
(C) Human resource
(D) All of the above
64. A data is converted into information by :
(A) Processing
(B) Facts
(C) Facts and figures
(D) Numerics
65. Information system required in office is :
(A) MIS
(B) DSS and OAS
(C) EIS

(D) All of the above
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Information management helps in : 66.

(A) Right decision making
(B) Effective communication
(C) Availability for relevant information

(D) All of the above

Information system is : 67.

(A) It must be according to organizational

objective
(B) It must be make before planning
(C) It must be made by managers

(D) Itis processed by Government

Time and motion study is done for : 68.

(A) Business process outsourcing
(B) Measurement of work
(C) Motivation

(D) None of the above

Which one is a technique of increasing  69.

productivity ?

(A) Job rotation
(B) Job enrichment
(C) MBO

(D) All of the above

Quality control of Office work is done by : 70.

(A) Inspection
(B) Statistical techniques
(C) Quality circle

(D) All of the above
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71. Quality of work life can be maintained by : 71, FE SiEd @ PEd 6% SR s

(A) Increment monetary (A) a9 gha @
(B) Promotion (B) W& &
(C) Over time payment (C) ¥ ®Hd H P &/
(D) All of the above (D) ST |l
72.  Worker's participation in management 72.  ®HEIRAT Hl Yo H GEiAr @ AR
means : g
(A) Participation in decision making A Frm a § e
(B) Employee grievance management (B) FHH=RA B RSCECIRCRCE]
(C) Trade union (C) =IRE e+
(D) All of the above (D) SWET |l
73.  Inoffice barriers in communication is due to:  73.  FEIGE ¥ TEHWOT § 9 qe0 AN R ¢
(A) Information overload (A) stferes g
(B) Language (B) s
(C) Organisational levels (C) T&n & o @
(D) All of the above (D) ST |l
74.  Correspondence means : 74, TER @& o R
(A) Communication by writing (A foiad T
(B) Communication by voice (B) TSI & T
(C) Communication by picture (C) 37 q T
(D) All of the above (D) ST |l

75.  Which one is the good features of a good ~ 75. T &S MMNEG T & I ©

business letter ?

A e
(A) Clear |
(B) Concise (B) wfera
(C) Courteous (C) farser=m
(D) All of the above (D) ST Tt

OFF. MANAG./A350101T-A/25 (17) [P.T.O.]



76.

7.

78.

79.

80. Modular furniture helps in : 80.

OFF. MANAG./A350101T-A/25

If in a mail, cheque is received than It have to  76.

openby :

(A) Treasurer

(B) Shareholder's presence
(C) Responsible officer

(D) All of the above

Which one is the method of duplication ? 7.

(A) Carbon copies
(B) By stencil
(C) Litho print

(D) None of the above

Which mode copies are made more in number  78.

in less time ?

(A) Carbone copies
(B) Photo state

(C) Offset litho

(D) Stencil

Tables in office are used for : 79.

(A) Asdesk
(B) For search and selecting mails
(C) For keeping records

(D) All of the above

(A) Less movement
(B) Special places for different things
(C) It save space

(D) All of the above

(18)

I B § Ik U o 3 Al T S I
IuRRafy & @ar ST ARy

(A) B

(B) H & ARGl H JURACT H
(C) R i

(D) ST |l

ST | B Sg-Siaferdreeer i fafy B ?
(A) R i

(B) Rt &rI

(C) ferenfic

(D) SR # & i T

Tg-Ufaierdiehel e SR Sl 9 % T
T e ?

(A) e BT

(B) ®Idl &<

(C) Jfwde faren

(D) &t

Pt § AT H ITGNT B ©
A) 3@

(B) WS I BeR T ot A

(C) @l &l AR @ F
(D) ST |l
HiggeR HreX IWRT B

(A) B BT

(B) fasiy T faf= dsi & forg
(C) TN &l T

(D) ST |l



81. C means in LCD :
(A) Crystal
(B) Centralized
(C) Cooperation

(D) Co-ordination

82. Work stations computer used for :

(A) Large Memory

(B) Large Algorithms

(C) Large Graphic

(D) All of the above
83. In Computer basic is :

(A) Modular

(B) Router

(C) Language

(D) Reader

84. Which one is an output device in computer ?

(A) Magnetic Tape
(B) Printer
(C) Plotter

(D) All of the above

85. Functions of operating system in computer is :

(A) Allocation
(B) Error detection
(C) Maintaining file

(D) All of the above

OFF. MANAG./A350101T-A/25

81.

82.

83.

(19)

84.

85.

LCD# C 9= & © :

T W HGX B ITAN BTl ©

(A) forega it e
(B) faaret it
(C) fasmer znfteeh
(D) IUVET T
Fge | aF ©

[P.T.O.]



86.

87.

88.

89.

90.

OFF. MANAG./A350101T-A/25

Internet means : 86.

(A) Inter related network
(B) Inter connected network
(C) Inter mixed network

(D) All of the above

Internet is developed by : 87.

(A) Google
(B) Microsoft
(C) 1.U.Net

(D) Defence department of USA

Information available through internet are : 88.

(A) Reports and facts
(B) Pictures and sound
(C) Company’s profiles

(D) All of the above

Internet reaches to public via : 89.

(A) Dial up access
(B) Leased lines
(C) Cable modem

(D) All of the above

Internet is used in trading by : 90.

(A) Sale
(B) SKU
(C) Research

(D) All of the above

(20)

T ©

(A) <X Rade Aeas

(B) X HridkiE eab
(C) 3 s eaa
(D) Suiert |

Fee famied B

() T |

(B) HrgshrHice

(C) oM. 7T I

(D) ST & & AR
FeHE W 3 FaAl Iuaed el ©
() @iwS g e

(B) 399 9 ST

(C) =l &1 feaxer

(D) IUVET T

FTIe SARREl T g §
(A) SET-3TT T

(B) ® W & & e

(C) & HieH

(D) I &t

ZE H ARG ST 8
(A) femhl

(B) T8.&.9.

(C) rgeem

(D) IUVET Tt



91.

92.

93.

94.

95.

OFF. MANAG./A350101T-A/25

Main disadvantage of E-Commerce is :

(A) Not to keep trade secret

(B) Economy

(C) Reduction in marketing intermediaries
(D) All of the above

Business models tells :

(A) How customers requirement are searched
(B) How a company earns

(C) How a company procures its resources
(D) None of the above

For controlling which steps are required ?
(A) Monitoring

(B) Measuring

(C) Taking corrective action

(D) All of the above

In planning the initial activity is :

(A) Define the objective

(B) Defining the way

(C) Searching the people

(D) None of the above

Which one is not organizing activity in

management ?

(A) Grouping the activities
(B) Span of management
(C) Delegation of authority

(D) Selecting the right people

91.

92.

93.

94.

95.

(21)

- P AN B

(A) RS @ B T @
(B) fepwprarct

(C) femiferat &t i

(D) U |l
e Hed Fa & ¢

(A) IUFT H TG o H
(B) 8 TH FHI FACH &

(C) FY F=F TEEET B W HE D
(D) Sw ¥ § F T
fraeer & % STed © °

(A) FE IR T @A

(B) & YeHigh

(C) &t fohan BT

(D) U |l
frier & qeett foRam &

(A) 3T F ERET

(B) W& & R

(C) T& =il &l @I

(D) ST & q i TE

e a9 BA-a Brar e endt ?

(A) TR Brarell &1 &g ST
(B) UaweE @ i

(C) s & Qe

(D) T fRTdr B G

[P.T.O.]



96. Directing in management includes :

(A) Leadership
(B) Communication
(C) Motivation

(D) All of the above

97. Process of office management includes :

(A) forecasting
(B) Objective
(C) Policies
(D) All of the above

98. Personnel policies includes :
(A) Selection of employees
(B) Training of employees
(C) Promotion of employees

(D) All of the above

96.

97.

98.

99. Administrative management concept is given  99.

by:

(A) F.W. Taylor
(B) H. Fayol
(C) M. Webber

(D) A. Maslow

100.  Modern equipment must be used for efficient ~ 100.

office management said by :
(A) Hicks and Place

(B) F.W. Taylor

(C) Waren Buffet

(D) Narayan Murti

OFF. MANAG./A350101T-A/25

(22)

fls d Fm @ar & ?
(A) AFESS

(D) IUVET T
FrEtad gaeg § i @
(A) YA

(B) Izasd

(C) et

(D) IUVET T

it fferat & smfet ®
(A) HHEE & gl
(B) wHNRAT 1 Hfweror
(C) Ml &l Fad
(D) U |l

T T i fr=ery & o ¢

(A) ThI=Y. T
(B) Ta. ®AKT

(C) TH. A=

(D) @ A=

FrEed § ongtie A B I EHA

qMeq, J FI & ¢
(A B T "
(B) TH.3=Y. T
(C) aRT ke

(D) AREeT i



Rough Work / % H
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Example :

Question :

Q1 ® @ © ©
Q2 ® ® @ ©

Q3 ® @ © ©

4, Each question carries equal marks.
Marks will be awarded according to the
number of correct answers you have.

5. All answers are to be given on OMR
Answer Sheet only. Answers given
anywhere other than the place specified
in the answer sheet will not be
considered valid.

6. Before writing anything on the OMR
Answer Sheet, all the instructions given
in it should be read carefully.

7. After the completion of the examination,
candidates should leave the examination
hall only after providing their OMR
Answer Sheet to the invigilator.
Candidate can carry their Question

Booklet.
8. There will be no negative marking.
9. Rough work, if any, should be done on

the blank pages provided for the purpose
in the booklet.

10. To bring and use of log-book, calculator,
pager & cellular phone in examination
hall is prohibited.

1. In case of any difference found in English
and Hindi version of the question, the
English version of the question will be
held authentic.

Impt. On opening the question booklet,
first check that all the pages of the question
booklet are printed properly. If there is any
discrepancy in the question Booklet, then
after showing it to the invigilator, get another
question Booklet of the same series.

JeTe T

RS

91 @ @ © ©
w2 @ ® O
w3 ® @ © ©

4. U U & ik TN §| oMUD Ria I
eI B, Il & APAR &b T [l ST

5. Tl I B AToTHORo  ITL-UFH
(OMR Answer Sheet) ® & @ I 2|
IO H MEiRa we & oEr o=

FEl WX e T SO} 9= g e

6. 3MoTHoARo IW-T% (OMR Answer
Sheet) W %8 1 e & 7@ 399 3 ™
gl oTRdl F WEEFIYES B [ S|

7. e TR b QU qeelt we e
N I OMR Answer Sheet SUwe H

% 9 & Tl B A TR S gl
T A FeT-GRAH o ST T o

8. fitfea mfes =& B

9. @B A W FE, UH-IRGH b, W-F &
fT U @l 379X &1 fehEr ST e

10.  OET- 7 -, IRy, TOR T Hega
B & ST T SHH SUAN HET il Bl

1. U9 % ol UG 3Tl @qraxer § f=iar 8

B SN H U H SIS WAWRI & A
B
AP IFYRAE G W YgEd: e #
@ & % urgRaw 3 @@ g wEMTT BT
gC ¢ Ak gsmgfaa F #is HW e, @
HHAEE H RErHy SH S #BogEd
IFYRAEH I H A



